Math 1071 Q-Center Review Exam #2

Complete the following problems in preparation for your second exam.

1. Suppose that the when the JBL Flip 5 is priced at $100 it has an elasticity of 1.75. That is,
E(100) = 1.75. If the price of the speaker is raised to $120, what is the approximate change in
demand for the Flip 57 Does this change represent an increase or decrease in demand?
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2. The function below represents the wealth of a hedge-fund manager in millions where ¢ represents
time in years since the manager started working on Wall Street. Find the open intervals where
this function is increasing and decreasing. What does this represent in context of the question?
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3. Find all vertical and horizontal asymptotes of the following functiont;
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4. The following function represents the marginal cest function for “soda” sold at the Rent on
a given game day. Calculate P”(x) and find intervals of increasing and decreasing of P'(z).

What does this tell you about P(x)?
P'(x) = 2? + 20z + 2.
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5. On the given plot, graph a function f(z), that satisfies the following properties (be sure to
include labels to make your picture clear):
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e f(z) has a relative max at (—3,2) and (2,5) and a relative minimum at (0, —2).
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6. A rectangular field of area 10,000 ft? next to a river is to be subdivided, into three congruent
pens, as shown in the diagram. Assume the river makes the fourth side. Assume the fencing

costs $15 per foot. Find the dimensions of the pens that will minimize the cost.
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